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QUESTION 1

Which two statements are true regarding Cisco ISE? (Choose two.) 

A. It distributed deployments, failover from primary to secondary Policy Administration Nodes happens automatically. 

B. The number of logs that ISE can retain is determined by your disk space. 

C. ISE supports IPv6 downloadable ACLs. 

D. ISE can detected endpoints whose addresses have been translated via NAT. 

E. ISE supports up to 100 Policy Services Nodes. 

F. In two-nodes standalone ISE deployments, failover must be done manually. 

Correct Answer: AB 

 

QUESTION 2

Which two statements are true regarding Cisco ISE? (Choose two.) 

A. The major business outcomes of ISE are enhanced user experience and secure VLAN segmentation. 

B. ISE plays a critical role in SD-Access. 

C. Without integration with any other product, ISE can track the actual physical location of a wireless endpoint as it
moves. 

D. ISE can provide data about when a specific device connected to the network. 

E. An ISE deployment requires only a Cisco ISE network access control appliance. 

Correct Answer: BD 

 

QUESTION 3

Which are two Cisco recommendations that demonstrates SDA? (Choose two.) 

A. Use the CLI to perform as much of the configuration as possible. 

B. Show the customer how to integrate ISE into DNA Center at the end of the demo. 

C. Focus on business benefits. 

D. Keep the demo at a high level. 

E. Be sure you explain the major technologies such as VXLAN and LISP in depth. 

Correct Answer: CD 
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QUESTION 4

What should you do if you are looking at a strategic win with a customer and the customer wants to examine Cisco ISE
for longer than a few weeks? 

A. Give them some of our flash files that can be played on any browser. 

B. Set them up with an account on a Cisco UCS server that hosts ISE. 

C. Set them up with a dCloud account. 

D. Give them our ISE YouTube videos. 

E. Provide them with a downloadable POV lit. 

F. Point them to our dCloud demo library. 

Correct Answer: C 

 

QUESTION 5

Which are two Cisco ISE that benefits our customers? (Choose two.) 

A. provides network access control 

B. helps them stop and contain real-time threats 

C. enables them to set traffic priorities across the network 

D. helps them accelerate application deployment and delivery 

Correct Answer: AB 

 

QUESTION 6

Which two Cisco ISE use cases typically involve the highest level of implementation complexity? (Choose two.) 

A. Guest and wireless access 

B. Software-defined access 

C. Device management 

D. Asset visibility 

E. Software-defined segmentation 

Correct Answer: BE 
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QUESTION 7

Which are the three focus areas for reinventing the WAN? (Choose three.) 

A. Centralized device authentication 

B. Secure Elastic Connectivity 

C. Application Quality of Experience 

D. Operations 

E. Cloud First 

F. Execution 

Correct Answer: BCE 

 

QUESTION 8

Which two statements describes Cisco SD-Access? (Choose two.) 

A. programmable overlays enabling network virtualization across the campus 

B. an automated encryption/decryption engine for highly secured transport requirements 

C. software-defined segmentation and policy enforcement based on user identity and group membership 

D. a collection of tools and applications that are a combination of loose and tight coupling 

E. an overlay for the wired infrastructure in which traffic is tunneled via a GRE tunnel to a mobility controller for policy
and application visibility 

Correct Answer: AC 

 

QUESTION 9

How would Cisco ISE handle authentication for your printer that does not have a supplicant? 

A. ISE would not authenticate the printer as printers are not subject to ISE authentication. 

B. ISE would authenticate the printer using 802.1X authentication. 

C. ISE would authenticate the printer using MAB. 

D. ISE would authenticate the printer using web authentication. 

E. ISE would authenticate the printer using MAC RADIUS authentication. 

Correct Answer: C 
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QUESTION 10

Which is a function of the Proactive Insights feature of Cisco DNA Center Assurance? 

A. pointing out where the most serious issues are happening in the network 

B. generating synthetic traffic to perform tests that raise awareness of potential network issues 

C. enabling you to quickly view all of the contextual information related to a single user D. enabling you to see the
complete path of packets from the client to the end application 

Correct Answer: B 
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